N = 0l & At & Ml A

M S2ALED

Ha: BATA Y ASHQ OFE TRISY 7S
S9l: FAM FAZZY FI| PE CER-ED
o
SA-3H-S(3AH) - MRAS - BES Ol &F o4 %l‘&ﬁ Hns2
CRAED 35,819,990 54,448,990 18,629,000
= 13,591,000
< 200,000
Al 22,028,990
BT Al Ul HSHQ QHE CR2RSY 5 35,354,018 52,979, 172 A 17,625, 154
= 13,591,000
< 200,000
Al 21,563,018
=HH PRy TIPS 22,573,225 37,892,040 ~ 15,318,815
= 13,591,000
= 200,000
Al 8,782,225
HE(FY-2S)ZCUANRACEAS 13,591,000 14,000,000 409,000
2 13,591,000
401 A& HI L 2Ol 13,591,000 14,000,000 409,000
2 13,591,000
01 Al&HI 12,924,000 13,420,538 496,538
ORCUHIRIEE A&AY 12,924,000
O&~2 5 (1=13.33km,B=20m)
12,924,000,0002! 12,924,000
=2 12,924,000
02 22l 667,000 550,000 117,000
OFYA-25 ALY MM Y|
667,000,00024 667,000
= 667,000
SAUENE 2F AY 1,006,300 0 1,006,300
401 A& HIL 2T 1,006,300 0 1,006,300
01 Al&HI 1,000,000 0 1,000,000
ORMSZ(FLD-TEHL)ZET B AH(L=0.64k
m, B=25m) 1,000,000,000% * 14 1,000,000
03 Al& = T 6,300 0 6,300
ORNEZ(HLD-2EUD)ST IM AL
cH bl 1,000,000,000% * 0.63% 6,300
AN R~HBDIE 2L 2,007,200 1,405,040 602, 160
I A H 2R ] 2,007,200 1,405,040 602, 160
01 Al& I 2,000,000 1,400,000 600,000
OYNESX KT ~HBDIZ 24 (L=1.9%n
. B=221~30m)Z A 2,000,000,0008 * 14! 2,000,000
03 Al& S TH Y| 7,200 5,040 2,160
OYNEXNXT~HBDIZ C2HL NEE
b 2,000,000,0008 * 0.36% 7,200
Mez82(MEFD~SEDNE)HEBA 3,531,325 10,025,000 16,493,675
401 A& HI L 2Ol 3,531,325 10,025,000 6,493,675




M &

M3 BoGA OH ASHE pEE SE2DEY PE
Sl F2UM BASRY FI| PE CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 3,083,000 10,000, 000 26,917,000
OH2&SZ (MEFW~ESEUIZ) HESAHL=
1.88km, B=35m) 3,083,000,000& * 14 3,083,000
02 2feldl 440,000 0 440,000
OH2&ESZ (MEFW~EZUIZ) HESA &
Il Zrel 440,000,000 440,000
03 A& =2 THHI 8,325 25,000 A 16,675
OM2zs2(ME=U~ESZFWIUZ)HNE S AL Al
=Rl 3,083,000,000& * 0.27% 8,325
SN2 W& S A 1,505,400 0 1,505,400
< 200,000
Al 1,305,400
401 Al HIZ 2018 1,505,400 0 1,505,400
= 200,000
Al 1,305,400
01 A& HI 1,500,000 0 1,500,000
O8%WIZE M BA (L=0.60km, S 11Xt
2 =HH) 1,500,000,000& * 14l 1,500,000
< 200,000
Al 1,300,000
03 A& =2 THHI 5,400 0 5,400
OSZuWiZ HESAH AIZ R0
1,500,000,000& * 0.36% 5,400
EFA E2A4 - 2= =8 932,000 0 932,000
401 Al HIZ 201 Y] 932,000 0 932,000
01 A& HI 932,000 0 932,000
OBFAN CRAL - 2N 48 29
34,000,000 * 14l 734,000
OBZEA T2AS - BN 2 HASBY
SEI 2H 198,000,000 * 14l 198,000
CSHU E2 nsSe =3 10,583,973 9,415,300 1,168,673
MY ZRA-BAZAEZ2HE S A 1,243,300 3,075,555 A 1,832,255
TAIZHI &R0 1,243,300 3,075,555 A 1,832,255
1T AIZHI 1,000,000 2,850,000 A 1,850,000
oOMdgd=A~-FA22E T2 IHH 3 AH(L=1.55Km, B
=20m) 1,000,000,000& = 14 1,000,000
02 Zeltl 237,000 219,000 18,000
OALZH-HAR CRIYLTA eI
2/l 237,000,000& 237,000
03 Al 2 THHI 6,300 6,555 A 255
QMY IA~TAZ2t TRIHESA AIZ2RUYI
1,000,000,000& * 0.63% 6,300
SAMY JHUYERX 24 1,107,372 457,102 650,270




2HN: S2AAED

Ha: OTA Y ASHO JFEE TRISY 1S
Sl CAY E2 DEY 3 EERED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
201 L2l 3,342 3,342 0
01 At 22l 3,342 3,342 0
OEAIZ=Zd RAE U 130,000& * 12& 1,560
O 2 &DBA = (DFinder) S X 24Ul
17,820,000& * 10% 1,782
401 A& BIZ 201 8I 1,104,030 453,760 650,270
01 A& HI 1,104,030 453,760 650,270
OJEHAER B4 (12m0l &)
45,000,000& * 24Z Xl 1,080,000
OM&A BHEs =2 24,030
Ogs"y =2 358,000& * 30E X 10,740
OLHEI 242
200,000 = 30E X = 2J4DJ| = 12,000
OSIEE =2 43,0003 = 30X 1,290
F=Ustn o= ~s&2X72 T2OHE S AM 1,437,191 201,840 1,235,351
401 AIEHIZ 28I 1,437,191 201,840 1,235,351
1 A&l 1,432,075 200,400 1,231,675
OHZ=MsD K&K P2 S2IHE(L
=620m,B=12m) HAEXE4 1,421,000,000& 1,421,000
OTMMABE 442 11,075
OUFFI 248
200,000 = 252X = 24| 2 10,000
OSJEEY =2 43,000& » 252 X 1,075
03 Al 20 HI 5,116 1,440 3,676
OF=Uetw H=CtHs~s 2k 722 E2H4
S A AIE 20| 1,421,000,000& * 0.36% 5,116
SED~MEZLAMANC S=2EFAMY 2,013,845 201,840 1,812,005
401 A& BIZ 201 8] 2,013,845 201,840 1,812,005
01 A& HI 2,006,645 200,400 1,806,245
O™ ~ME Z=AIH2I =2 & & (L=430m,B=10
m—50m) SAF B EXl 24 2,000,000,0002 2,000,000
OMUHBHE 42 6,645
OLHEIL42
200,000 = 152X = 2)4DJ| 2 6,000
OSIEE =8 43,0003 = 15X 645
03 AIE 2 0H bl 7,200 1,440 5,760
OHE N ~MEBE=SSWANC S2E M
A& 2y 2,000,000,000& * 0.36% 7,200
S2I|/HY AlFHA FI) 25,797 19,903 5,894
101 1244 dl 10,797 4,903 5,894
4 D12t Z2XEES 10,797 4,903 5,894
OB4NE BRERE B 10,797
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(o
SN ED B (3H) - MEAY - BAS %@i HD=2
OB 4&XNE BREF =48 o2
46,910 « 2% x 262 x 48 9,758
O=0HdZa 3 9,758,000& * 4.5% 440
OnlggEss 242 9,758,000 * 1.5% 147
OAATHO 282 9,758,000& * 1.42% 139
O=pALPEE 2
9,758,000€ * 2.995% 293
OIAESE S s 2=
293,000 * 6.55% 20
201 et 9| 15,000 15,000 0
01 AP 2t 2] H| 15,000 15,000 0
OANSMA SI=EE =2
300,000& * 50 X| 15,000
W48 SR2I(ZER3-354) &S24 ,006,300 0 ,006,300
401 AlEHIZL 2 0HY| ,006,300 0 ,006, 300
01 Al&EH| ,000,000 0 ,000,000
OgS T2l S2IE 2 A (L=551m, B=12m
) 1,000,000, 000 = 14! ,000,000
03 Al 20| 6,300 0 6,300
OUWE=S S22 S2UME ZAF AIZ 20
1,000,000,000& * 0.63% 6,300
ETHIE~XEOITHE R3 T2 HAE ZA ,015,160 0 ,015,160
401 AlEHIZL 2 0HY| ,015,160 0 ,015,160
01 Al&H| ,008,860 0 ,008, 860
OEAHICI~XEOTIE R332 HEZ2AHL=1,0
05m, B=20m) Tl X| &4t 1,000,000,000& ,000,000
OMARA HE 222 8,860
OLEBI} 242
200,000& = 202 X| = 2J4 20| & 8,000
OSIEE =8 43,000 = 202 X| 860
03 AlE 21| 6,300 0 6,300
OEHIE~REOHE R3E2 HEZ2AI A&
=N 1,000,000,000& * 0.63% 6,300
283 XNZ A B A 35,500 0 35,500
1A H Y20 35,500 0 35,500
01 A& H| 35,500 0 35,500
288 XA BHILEZAH(L=0.3Km, B=20m)
AAEAHEA 35,500,000& * 14 35,500
ANES 0ISEUZ T 2L Z2A 39,405 0 39,405
401 Al HI L 204 HI 39,405 0 39,405
01 Al&H| 39,405 0 39,405




M AT Al CHHI

S2AIE L

o]
=
P TAH T2 DEY =HE

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OX=s o282 A B3 AH(L=0.27Km, B=15m
) AAEAESY 39,405,000 * 14 39,405
OtEL2AYE~n2aHelt T2 T E S A 200,000 200,000
401 A& HIZ 201 I 200,000 200,000
01 A& HI 200,000 200,000
OMNEZ(OISURALE~D2Hed) =&
I SA HAAEAHSA 200,000,000 * 14 200,000
D8s SAAECZ2(EXZ F8) HE SA 94,500 94,500
AEHI &2 94,500 94,500
01 A& HI 94,500 94,500
olgs Xz =8 T2 S A (L=0.66Knm,
B=20m) AAI&EHESA 94,500,000& * 14 94,500
Ols&d MYE=2 WEHIIZ X A 372,520 372,520
401 AIEHI L 20 372,520 372,520
01 A& Bl 370,000 370,000
O0lad MYgE2 Wtz X 3AHL=0.05k
m, B=3~4m, 7IHA) MAIEAHSA
20,000,000& * 14l 20,000
Ol0ls&d MYgs=z Wz X 3AHL=0.05k
m, B=3~4m, 70HA) 350,000,000 * 14l 350,000
03 Al S THHI 2,520 2,520
Ol0lzd MYz WHIZ X SA AIER
CHyl 350,000,000& * 0.72% 2,520
g0/ AEel T2HE S At 50,000 50,000
401 Al HIZ 201 Y] 50,000 50,000
01 A& HI 50,000 50,000
Ogol Aol T2IHE B A (L=250m, B=20m
) A AIE A 50,000,000 * 14l 50,000
SIMOSSI~-EL2K 72t T 2=H JA 1,625,923 1,625,923
TAEZHIZE0Y 1,625,923 1,625,923
01 A& HI 1,620,101 1,620,101
O=HMOIS30~-EL2X 722t T2&F 2 A
HZ X 24| 1,617,000, 000& 1,617,000
OMLUHAHS =2 3,101
OB 248
200,000 = 72X = 2J40| = 2,800
OSIEE =8 43,000& = 72X 301
03 Al 2 THHI 5,822 5,822
O=H MOS0~ L2X 722 T2EFH I A Al
220l 1,617,000,000& * 0.36% 5,822
LEESE W MHEl RIE U2 EE SA 317,160 317,160
401 AIEHI L 20 317,160 317,160




M SZAIE D

Ha: OTA Y ASHO JFEE TRISY 1S
Sl CAY E2 DEY 3 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 315,000 0 315,000
OREFESE W AJel RIAEIUZ HE SAHL
=0.07Km, B=10—15m)& A& H S A
15,000,000 * 14 15,000
OREEESstW AtHEl RIEXIZE HE SAF (
L=0.07Km, B=10— 15m) 300,000,000 * 14 300,000
03 Al 2 THHI 2,160 0 2,160
OAIE = HHI 300,000,000& * 0.72% 2,160
E2 ANE ®X2e 100,095 2,502,032 A2,401,937
IR (E=2)22] 12,595 11,403 1,192
101 @124 Hl 5,400 5,391 9
04 JIZHHZ2XREE S 5,400 5,391 9
OZKMEH(EZ) AEHEMN FH A2Y
46,9108 = 1H » 269 * 43 4,879
o=0cz 2E3 4,879,000& * 4.5% 220
CL==Egz= RES3 4,879,000& = 1.5% 74
OH2=EEz RE3 4,879,000& = 2.995% 147
OFIRYEE= RFES 147,000& * 6.55% 10
OtTHEEZE RES3 4,879,000 * 1.42% 70
201 Let24E] 5,755 4,860 895
01 At 22l 5,755 4,860 895
O=R ML &elx==3 5,755
OZH=EY =82 511,000& = 10Z X 5,110
O8JI&sY ==& 43,000& » 152 X 645
202 44l 1,440 1,152 288
01 = LH o4 1l 1,440 1,152 288
O==aet el AEiZAL =04
20,000& = 3H * 32 * 83 1,440
IS 2elAAE I 2l 87,500 900,000 A 812,500
201 L2l 31,500 0 31,500
02 =224l 31,500 0 31,500
OJNZEtES ZelAlA8 |X 22
900,000,000& * 7% * 1/2 31,500
401 A& HIZ 2018 56,000 900,000 A 844,000
01 A& HI 56,000 894,365 A 838,365
OJMN2Eets HF KA 22l
5,000 * 40000 = 400 & 56,000
CHY SEXNG ABEZ W4 2,096,725 3,169,800 A 1,073,075
A~ 462 S28E ZA 1,486,300 3,169,800 A 1,683,500
401 Al HI K 201 I 1,486,300 3,169,800 A 1,683,500
01 A& HI 1,000,000 3,000,000 A 2,000,000




2H ERALD
Za: YACA OH HSHol
Sl CAD SEXY HEEZ

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHF=H~I 42t 2 EE T AH(L=2.1Km, B=8—2
5m) 1,000,000,000& * 14l 1,000,000
02 2feldl 480,000 162,900 317,100
OHFA-S M CRHYTA oAyl
480,000,000& 480,000
03 A& S THHI 6,300 6,900 A 600
OBFA-SM2 CRAFBA ALY
1,000,000,000& * 0.63% 6,300
ME2H T2EE A 610,425 0 610,425
401 A& HIZ 201 Y] 610,425 0 610,425
01 A& HI 606,645 0 606,645
OME~2H T2&F HAEX EA&HI(L=2.5
Km, B=20m) 600,000, 000& 600,000
OMMH BHES =2 6,645
OLHEI 242
200,000 = 15E X = 2J4D|2t 6,000
OSJ=EE =8 43,0003 = 15Z X 645
03 AlE 2 THHI 3,780 0 3,780
OMM-2H2 TRATIDA AILLUHI
600,000,000& = 0.63% 3,780
HHE2LAZH(ZZAED) 43,972 1,012,281 A 968,309
Jl=&l 43,972 0 43,972
Jl234 43,972 0 43,972
201 2et24d] 16,912 0 16,912
01 At 22l 16,912 0 16,912
OJlege=ad 8,344,000& 8,344
o=l 8,568,000& 8,568
202 44l 18,360 0 18,360
01 SLHOIYI 18,360 0 18,360
O=L0 bl 18,360,000 18,360
203 YR =&l 7,200 0 7,200
03 AIF=XH R =AH| 3,000 0 3,000
OL2E gR=2 3,000,000& = 1H 3,000
04 FN2IELSF=TH 4,200 0 4,200
OJlE&l 350,000& = 123 4,200
405 XtabFE SHI 1,500 0 1,500
01 AL ESFH S 1,500 0 1,500
OARE oX #¢ 300,000& * 59 1,500
HRES(SZ A& 422,000 457,537 A 35,537
HEHHX = 422,000 457,537 A 35,537




b

25 E2 A&
H: HRES(SEZ2 AL
e LHEHHX S (&
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o &@ﬁ HRE2
LHEAHH K= 422,000 457,500 A 35,500
705 Ol==_c 24 422,000 457,500 A 35,500
02 0l£&=20| X4 & 422,000 457 500 A 35,500
STR-YARA &
(£2712)
422 ,000,000& 422,000

BN
Osg~23, E2-t8, ¢
2HE Sls 0




